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PART - |
(A) PHYSICS SCIENCE / fam (A) ¥t v
1. A 20 kg block is initially at rest. A 75 N 1. s 20 For.7m. o1 soves W o forgm staeen
force is required to set the block in o 2| octeh Y Tfg | &4 & fe 75 N &t
motion. After the motion, a force of & ITavaEar 8| 1Y F 18 ST & i i
60 N is applied to keep the block P T e s 77 60 N 5ot 1
moving with constant speed. The .
coefficient of static friction is e 37 feor i T s
(A) 0.60 (B) 0.52 (A) 0.60 (B) 0.52
(C) 0.44 (D) 0.35 (C) 0.44 (D) 0.35
2. If the distance between two masses 2. ufe 3 gomEl o s ol g 1 QAT feRa
is doubled, the gravitational attraction ST 1, S o o1 e ATeRdur
between them ‘ v
(A) is doubled (A) ST B
(B) become four times (B) =R T W
(C) is reduced to half (C) weaR 3meft @ sl
(D) is reduced to quarter (D) Tt =gTE ® SR
3. lfgis acceleration due to gravity at the 3. e gyeht i Uaw W T W g}
earth’s surface and r is the radius of the geaft By, T &l geft * e
earth. The escape velocity of the body A Y T TIRA FQ F T g A
to escape out of earth’s gravitational S
field
(A) gr (B) vagr (A) gr (B) v2gr
(C) gir (D) r/g (C) ol (D) r/g
4. If the kinetic energy is doubled, then 4. =R nfas st B S TR S A wE
its momentum will m
(A) remain unchanged (A) f@Efda
(B) be doubled (B) T
(C) be halfed (C) 3
(D) increase v2 times (D) /2 71 5§ S
W & & foro s
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5.

The amount of heat required to raise
the temperature of 1 kilogram of water
by 1°C is called

(A) Kilo-calorie

(B) Calorie -

(C) B.T.U.

(D) Calorie/°C

Which of the following statement is
wrong ?

(A) sound travels in a straight line.
(B) sound travels as waves.

(C) sound is a form of energy.

(D) sound travels faster in vacuum
than in air.

The equation of a transverse wave is
given by

y =10 sin = (0.01x — 2t),

where y and x are in cm and t in sec.
Its frequency is

(A) 0.01 sec™

(B) 1sec™’

(C) 2 sec™

(D) 10 sec™’

The velocity of sound in air at 0°C is

332 m/s. What would be its velocity in
air at 10°C ?

(A) 356.9 m/s
(C) 338.1 m/s

(B) 346.8 m/s
- (D) 333 m/s -

0218/UE - PT/PP -

1 feretm ot F AW A 1°C s@R &

E Wwﬁwﬁ;ﬁ%%

(A) fren-hendt
(B) e

(C) #A 7,

(D) F&i/°C

fedesNT s Teae ?

(A) ot ot W § e w2

(B) waf a0 & w9 ° A Lt Bl

(C) @i, S %1 &9 B

(D) eaft faata o arg <t e o 1
w3l |

e e e 7 e e

y =10 sin & (0.01x — 2t)

Tl y SR x At & qon t dehve o 3
sghy m '

(A) 0.01 yfq A=vg

(B) 1 ufe gwvg

(C) 2 wft awvg

(D) 10 ufer Qpvg

0°C W &g & wafy &1 3 332 . /2.
10°C W g & Swet 3 forcrm g 7

(A) 356.9 t./8. (B) 346.8 #i./4.
(C) 338.1#ft./4. (D) 333 +./3.

I wIE % fero vums
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9. Light waves travel in vacuum along 9. IS gy aur fEiad x_ama*,@,qgﬁsmqq
the x-axis, which of the following may Ft 2 | By § @ gom 1 velfa s
represent the wavefronts ? .
(A) x=c¢ (A) x=c¢
B)y=c (B) y=c¢
(C) z=c (C) z=c
(D) x+y+z=c (D) x+y+z=c
10. The velocity of light in a medium is haif 10. afe foreft wream §  wepTT ST S, W B
its velocity in air. If ray of light emerges Iy T 3T 1 ST B | AR eRIST 39 "IeAH
of mckdancs at which  wil b totaly il gl sy i
internally reflected, is
(A) 15° ., (B) 30° (A) 15° (B) 30°
(C) 45° (D) 60° (C) 45° (D) 60°
11. A man with defective eyes cannot see 11. T =afe 9 U 7@ & 60 @41, &
distinctly object at the distance more atfereh gt o e o 1 W16 TR W R o@
than 60 cm from his eyes. The power TRl | : 39 3 o i wifer St
of the lens to be used will be
(A) +60D (B) -60D (A) +60D (B) —60D
1 : 1
(C)-166D (D) 755D (C) -1.66D  (D).75sP
12. The magnifying power of an 12,  forelt ivefia guehe ot el wifski 8 8, e
astronomical telescope is 8 and the afe i el Fuea gl 54 .. A At
distance between the two lenses is A9 qYd g &) wiepg 2Raf o
54 cm. The focal length of eye lens and St _ ®
objective lens will be respectively
(A) 6 cm and 48 cm (A) 69.9. au1 48 @ .11,
(B) 48 cm and 6 cm (B) 48 4.4, qu1 6 4. 4.
(C) 8cmand 64 ¢m (C) 8@.1ft. aur 64 9.1,
(D) 64 cm and 8 cm (D) 64 .. aun 8 1.1,
™ & & o wom
Space for Rough Work
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13. Thevoltage V and current I graph for a 13. uf & s anar T, @91 T, ® Tt =
conductor at two different temperatures FRR e vE g I F o ae R
T, and T, are shown in the figure. The il T, Tzaa o] oy 2
relation between T, and T,is
T A
K v T
Vv Ty
T
T
I —
1 — |
(A) T,>T, (B) T,~T, (A) T,>T, (B) T,~T,
C)T,=T, D) T, < T2 (C) T, =T, (D) T,<T,
14. The voltage of an ac source varies 14. i fordft Tt oha o favg oo ¥
with time according to equation w0 V = 100 sin 100t cos 10C
V =100 sin 100nt cos 100% t where tis %Wqﬁa’ﬁam%ﬁtmﬁ
in seconds and V is in volts. Then V dee |, &
(A) The peak voltage of the source is (A) S & s fva 100 e &
100 volts ,
(B) The peak voltage of the source is (B) i 1 it fawg 50 diee B
50 volts
(C) The peak voltage of the source is (C) ©ita =1 HAfyewan fava 100/
100/+/2 volts e &
(D) The frequency of the source is (D) ®ia i e 50 Hz #
50 Hz
T Fd & oo s

Space for Rough Work
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15. Curies law can be written as 15. g o1 forem forat s whar @
(A) X=(T=T) (B) X=— (A) X=(T-T) (B) X=—
’ - In T - TC
1
© x=1 (D) X=T ©) x=4 (D) X=T
T T
16. The variation of magnetic susceptibility 16. Toreht <ie rarehia yard & ford graehia wafar
(X) with absolute temperature T for a (X) T THaTg T & 9 ufied 8
ferromagnetic material is
X X
0 T g T
X %
(B) (B)
0 T 0 T
X 4 X ‘T
(C) (C)
0 T 0 T
XA XA
.0 >T 0 >T
(D) (D)
& wE & forg s
Space for Rough Work

Set-A



k2

17.
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17. The dimensional formula for Pressure is T & forg i T 2
(A) [MLT-1] (A) [MLT-1] |
(B) [ML2T] (B) [ML2T7"]

(C) [ML'T3 (C) [ML'T-?)
(D) [ML-2T-7 (D) [ML-2T-2]

18. The pitch of a screw gauge is 0.5 mm 18. U Wil o1 I a0t 0.5 f.fa. @
and the. circular scale is divided in 100 ELivi haT 100 9P H ST & A qﬁ:
parts. The least count of screw gauge is I B
(A) 0.5cm (B) 0.05cm (A) 0.5cm (B) 0.05 cm
(C) 0.005cm (D) 0.0005 cm (C) 0.005cm (D) 0.0005 cm

19. A car travels a distance A to B at a 19. THEHR40 FHH. /RAIT@IATE
speed of 40 km/h and returns to A ata JeTaT & 3R 30 fr.dfi. /de R == &
speed of 30 km/h. What is the average Y dIe AT R | 3NEa T B
velocity ?

(A) 30 km/h (A) 30 .t /=2
(B) 40 km/h (B) 40 f.4t. /a2
(C) 34.3 km/h (C) 34.3 fo.dt. /=2
(D) zero . (D) =

20. A boy standing at the top of a tower of 20. UH ASH 20 A F TR WELT o
20 m height drops a stone. If g = 10 m/&?, veeR 19 firen &1 afe g = 10 1. /2.2 %
the velocity with which it hits the g fopg 3 9 99 9§ e ?
ground is ,
(A) 40 m/s (B) 20 m/s (A) 407./&.  (B) 20%./@.
(C)10m/s (D) 5m/s (C) 10%#./a. (D) 51./4.

W wR & Rmwm
Space for Rough Work
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21. If the stone is thrown up vertically and 21, i e Yok I eTarad HUT shl ST hehl SITT
return to ground, its potential energy oI AT S AR 3T, &) 3ue ffes
is maximum <=1 atfreman Bt
(A) during the upward journey (A) ST IET & RH
(B) at the maximum height (B) I=W HATE W
(C) during the return journey (C) = I & ERH
(D) at the bottom (D) St W

22, A force of (10i-3+6k)N acts on a | 22, wrast (10i-3]+6k) =7 wh 5 Re.amag
body of 5 kg and displace it from wemEt ARG A 61+ 5- 3k) .
A(6i+5]- 3k)m to B(10i—2j+7k)m. d B(10i-2]+7k) . fereenfi war & @
The workdone is ™ BT
(A) zero (B) 1004 (A) T (B) 100 J
(C) 121 J (D) 2214 (C) 121J (D) 221 J

23. The steam point is 100°C on Celsius o3 urq fie afegag 991 | 100°C & ot 35
scale. Then the value in Fahrenheit m:{ﬁai:mszﬂnﬁqt%ﬁm
scale is
(A) 100°F (B) 373°F (A) 100°F (B) 373°F
(C) 212°F (D) 312°F (C) 212°F (D) 312°F

24. 50 gm of ice at 0°C is mixed with | 24. 0°C 3T 50 7 5% i 80°C TR 540 T
540 gm of water at 80°C. The final STt % an ferern s @ | fysror it
temperature of mixture is g # .
(A) 0°C (A) 0°C
(B) 40°C (B) 40°C
(C) 80°C (C) 80°C
(D) less than 0°C (D) 0°C & &1

% w1 % fore wm
Space for Rough Work
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25.

26.

27.

28.

0218/UE - PT/PP

-1 0-
The wavelength of ultrasonic waves in 25. Iy o qureafae atm & quesd sy
air is of the order of ‘
(A) 5x10°cm (A) 5x10°cm
(B) 5x10° cm (B) 5x10®%cm
(C) 5x10° cm - (C) 5x105cm
(D) 5x10% cm (D) 5x10% cm
A particle executes SHM with a period 26. THH6 Y. HEdeH 31 3. H, 3w
of 6 sec. and an amplitude of 3 cm. lts Y T e T L &1 B | 3HehT AR
maximum speed in cm/sec. is =1 &4 /3.0 g
(A) n/2 (B) © (A) m/2 (B) =
(C) 2n (D) 3n (C) 2n (D) 3n
When a plane mirror is rotated through 27. S« forelt wHae advT 61 6 10T A gART
an angle 0 then the reflected ray turns & dt wEfda oo 20 v ¥ 5w <
through the angle 26 then the size of yfafers &1 srerr B
the image
(A) Is doubled (A) g grf
(B) Is halved (B) Imeft Bl
(C) Remains the same (C) sraiafda grft
(D) Becomes infinite (D) 3= & it
Radius of curvature of concave mirror 28. TorElt araaet guur <Y askar s 40 &4t
is 40 cm and the size of image is afe gdfera 1 STFR g A gETE A
twice as that of object, then the object i =6 gt
distance is :
(A) 60 cm (A) 60 9.1t
(B) 20 cm (B) 20 ..
(C) 40 cm (C) 40 .4
(D) 30 cm (D) 30 4.4.

W o % forg v
Space for Rough Work
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29. The distance v of the real image 29. frfisvmdusguag Rl usfafes
formed by a convex lens is measured T ¥ ol afe sl sRiftes & gy
for various object distance u. A graph A Fafr W ST B A, ) frer i A
is plotted between v and u. Which one IFTE R ?
of the following graph is correct ? "
n 3 1\ !
(A Y (B) (A) (B)
' u-> u-> o u->
'y " T “ 1t
'E 4 g Sl
(C) | (D) v (C) SRRRD
' L, T
u-> u-> u-> u->
30. A convex lens of focal length 25 cm 30. Wk 25 YH. FiHE U F Iq G 99
and a concave lens of focal length 10 9. 11, W < T STFde g 399 T
10 cm are joined together. The power W' R TR %“?ﬁ ‘3?1'”. @ wifFT Brft
of the combination will be
(A) —16D (B) +16 D (A) —16D (B) +16 D
(C) -6D (D) +6D (C) -6D (D) +6D
.31. Equivalent resistance between A and B 31. fargail A 9o B % e auge v en
will be
A A
3Q 3Q 3Q 3Q
3Q 30 3Q 30
(A) 2Q (B) 18Q (A) 2Q (B) 18 Q
C)e6Q (D) 36Q (C) 6Q (D) 36Q
T w1 & forg o
Space for Rough Work
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32.

33.

A circular loop of radius R carrying
current I lies in X-Y plane with its
centre at origin. The total magnetic flux
through X-Y plane is

(A) Directly proportional to I
(B) Directly proportional to R
(C) Directly proportional to R2
(D) Zero

When the speed of a dc motor
increases the armature current

(A) Increases

" (B) Decreases

34.

(C) Does not change
(D) Increases and decreases
continuously

The potential difference applied to an
X-ray tube is increased. As a result, in
the emitted radiation

(A) The intensity increases

(B) The minimum wavelength
increases

(C) The intensity decreases

(D) The minimum wavelength
decreases

-12-
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32. 3k R Br=an w1 qameR qu e am
Yarted B W' X-Y a6 W @ @
&%, 7 g R X-Y 990 | FI g
TS R

(A) 1ht AU
(B) R Srshururet
(C) R? ! SgshaTgaTet
(D) I

33. afe Rt &, Mot I wea & & o
CIRUC ARSI '
(A) s&dT &
(B) weem B
(C) whafda =& g
(D) Had ¥4 § T T geal W 8

34. 3 ferelt X-Feror ogm o eiftr fanra s
ST & | aiomw: Seaiota Ao d

(A) s sl 8
(B) =aw atTeed wed! @

(C) Herar wed! @
(D) g Teed wedt 8

@ wrd % foru s
Space for Rough Work

Set-/



%’% -13- - 0218/UE - PT/PP-M
35. Following figure shows the time- 35 g wsus e W iy % e
acceleration graph for a particle T ST T < gt & | e o S
in rectilinear motion. The average ﬁ ; S
acceleration in first twenty seconds is I
a(m/s?) 1 | a(m/s’) 1
201 A B\ 00 A B\
I i ym it
| i \ i | \
I I \ i : \
104+ / ! I okl il e s
I 1 \ 1 I \
D i \C D iE
1 1 1 > 1 1 1 = t [
o 10 20 30 o 10 20 30
(A) 15 m/s? (A) 151, /3.2
(B) 20 m/s? (B) 20Ht. /4.2
(C) 25 m/s? (C) 251 /8.2
(D) 35 m/s? (D) 351./4.2
36. The coefficient of restitution e for a 36. T ot STy T o forT Wge e e
perfectly inelastic collision is B
(A) 1 (B) o (A) 1 (B) e
(C) zero (D) -1 (C) I (D) -1
37. When a body is taken from the equator 37. 6 U 9] W%@Tﬁ ga A ST ST
to the poles, its weight 2 8 ITH WK
(A) remains constant (A) aRafda
(B) increases (B) sl B
(C) decreases (C) wedt ?
(D) increases at M-poles and (D) M- gaqta?gﬁ%m S-QHWI‘EIZ?ﬁ 2
decreases at the S-pole '
% wE & fore s
Space for Rough Work
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38. During melting process the heat given‘ 38. e uftRar &% Sro9 et &g A fr
to a body is utilized in 1 394N BT &
(A) increasing the temperature (A) q9HH P TEH §
(B) increasing the density of material (B) wered % e i WM i
(C) -increasing the average distance (C) 33T % &9 ¥ ga @ NS
- between the molecules
(D) decreasing the mass of the body (D) 957 & ZUHH HI HH HA A
39. If a.and ydenote the coefficient of linear 39. 3R o 3R y swwT: fomelt T W
and coefficient of volume expansion of 3 T JER 1T gwtar @ @
a body, the ratio o/yis JFaTd grm
1
(A) 1 ®) 3 ) 1 ® 5
2 1 2 1
(C) - (©) 3 (C) 3 D) 3
40. Hygrometers are instruments for 40. ITEAmTI TH U § Fored A @
measuring
(A) The amount of oxygen in air (A) I T reRfise 6t wEn
(B) The amount of water vapour in (B) agwse ¥ St arsa <l A
atmosphere

(C) The density of air (C) 91g &1 uca

(D) The expansion of water vapour (D) A9 % WY TS AT H TAR
with temperature :

41. A perfect gas at 27°C is heated at 41. T 3ey W H 27°C W Fua e
constant pressure, so as to triple its TR T ot ST @ T SueR oma
volume. The temperature of the gas TUIT B ST G 61 I g
will be
(A) 627°C (A) 627°C
(B) 450°C (B) 450°C
(C) 81°C (C) 81°C
(D) None of the above (D) ST # 8 Y T

F H & foru vom

Space for Rough Work
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42. The graph between u and v for a 42. ford) 39« gdu & o3 u 9971 v & Tey
convex mirror is 2
9%
! N
(A) fﬁ ————— f
>U
&N
(B) =" /—f
—>U
\'
&
(8) v fipfst= s :
> U
P
5
- > U
43. The object distance u, the image 43. <« fopelt g § srwq 1 g0 u, idfsws i
distance v and the magnification m in T v a1 Yaua m & vea ew d@ay 3
a lens follow certain linear relations. ' .
These are
1 1 @) 1w 1 ¥
(A) — versus — u v
e Y + O]
B) ma¥i u
(B) mversus u ®) ¥
(C) u versus v (C) uaat ve I8
(D) m versus v (D) m @Al v % AL
T w1 & for s
Space for Rough Work
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44. Inthe given circuit, with steady current, 44, T qfmy 3 frdt foR g0 % fE @
the potential drop across the capacitor ¥ ol w fva =
must be
v g v R
e b
Vo la NG
———l= —il——ll—
(A) V (B) Vi2 AV (B) vi2
(C) VI3 (D) 2v/3 (C) V/3 (D) 2V/3
45. The specific resistance of a wire is p, 45. af frelt A A Rifire vhiw p, 3
its volume is 3m? and its resistance is 3 3 qreyn Wfedrer 3 3fied & 4t Sweht
3 ohms, then its length will be
1 3 1 3
(A) \F (B) = (A) \/: (B) —~=
p A p Jp
. 1 ‘ N
© 5 opf © 5 o,
p 3 3
46. The potential difference in open circuit 46. Tt g vhoy # et a1 g
for a cell is 2.2 volts. When a 4 ohm 2.2 e B AR RIS ¥ ued 4 o
resistor is connected between its two ROy ST IR @ e 2 See Al
electrodes the potential difference R O =1 iaies gfedy B
becomes 2 volts. The internal
resistance of the cell will be :
(A) 1 ohm (A) 1 3m
(B) 0.2 ohm (B) 0.2 31w
(C) 2.5 0hm (C) 2.5 3™
(D) 0.4 ohm (D) 0.4 3|
@ & & oo wem
Space for Rough Work
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47. Athin circular wire carrying a current I 47. IR T TGS AR ar Rl g/ 1 yaa
has a magnetic moment M. The shape A @ 2, au Rt gmmq e M=,
of the wire is changed to a square and 1 SRR Tt e FTER @t R S
it carries the same current. It will have S gm0 ufEfdd & at et el
a magnetic moment Huil
4 4
(A) M (B) ?M (A) M (B) ?M
© 2m ©) Im © m ©) M
T 4 T 4
48. A magnet of magnetic moment M and 48. gEHE msnlf M @ m g9 e & TH
pole strength m is divided in two equal T 3 o el wier e & | e W
parts. Then magnetic moment of each o S et &
part will be :
(A) M (B) M2 (A) M (B) M/2 -
(C) M/4 (D) 2M (C) M/4 (D) 2M
49. Magnetic meridian is a 49. AR ITART B
(A) Point (A) fog
(B) Horizontal plane (B) &faw &
(C) Vertical plane (C) 3@ aa
(D) Line along N-S (D) N-S ¥ argfew @
50. The magnet can be completely 50. U g Quiar: forgrarehia fora < weka @
demagnetized by
(A) Breaking the magnet into small (A) I I BIR-BIe gHel | fewilra
pieces s
(B) Heating it slightly (B) ¥R-¢fik mi s/
(C) Droping it into ice cold water (C) swia Ut # Bz
(D) A reverse field of appropriate (D) Imewas g i fwlia & g
strength
% wE & fore o
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(B) CHEMISTRY (B)- TaTE wIre
51. Fractional atomic masses of elements 51. deail & IR WA qTEel & 3
are due to the presence of formreht sufeufa 2 7 |

(A) Different numbers of electrons and (A) SHFRM TUT NIEH & AT e
protons T3 HT BT

(B) Their isotopes having different (B) 3T GHEATFYeRI o el el a7
masses: CoRCil

(C) Different numbers of protons and (C) SIeH QeI =g Sl ITeHT JenT Hd
neutrons T &

(D) All of these (D) 39T Teft

52.  Which of the following statements is 52. fefafead oo syTaat ?
true ?

(A) Newlands divided the elements into (A) IIUE GRT dedl ol FIRGI-eet 1@
horizontal rows of eight elements g fawfora fomar o R vldes &
each CCRCRS '

(B) Mendeleev arranged the elements (B) et acal 1 39 Tl e
in his periodic table on the basis - QAT W o TR W e R
of atomic masses

(C) The elements in a group have (€) @Wﬁm (Fr=sftergfesr) T
consecutive atomic numbers - e EdE

(D) None of these (D) ¥ & # T _

53. The position of isotopes of an element 53. forell oremat & wmeenfis feufa smyf

in the modern periodic table is Ted gRoft B et 8

(A) Next to element in a period (A) 3Tad ¥ qed & UgEd

(B) Next to the element in a group (B) @qg ® qed % 9vEd

(C) Atone place in the same group (C) &9 Wig § T &M

(D) None of these (D) ¥ | H1g A&

% & & fore wam
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54.

55.

56.

Which indicator is pink in alkaline solution
and colorless in acidic solution ?

(A) Methyl orange
(B) Phenolphthalein
(C) EBT

(D) Methyl red

Which one of the following is not a

characteristic of chemical equilibrium ?

(A) Chemical equilibrium is dynamic
in nature

(B) Catalyst alters the equilibrium
point

(C) Equilibrium can be approached

~ from either direction

(D) The observable properties of
the system become constant at
equilibrium

Which of the following salt has no water
of crystallization ?

(A) Gypsum

(B) Baking soda
(C) Washing soda
(D) Green vitriol

-19-

54.

55.

56.

0218/UE - PT/PP - M

I T g A faera 3 e aon

st ferR A G daTe 7

(A) faemse s

(B) ferwafer

(C) =&

(D) Trmset T8

Frfofga & =n varfis dgem &

LR

(A) Tl Fge/aramEed i JEHid
e 2

(B) Ik Arfeg/Hge forg i wifa
EaGIR
(C) fomeft oft feem wgerm/ary wiea- g &

(D) Sl Ry FR 9 T Tger/
g # fRR & 9 8

Traforfaa % @ forg e o ferecfiamo @

St w1dl B & 7
(A) feam
(B) sfd der
(C) af¥mr |reT
(D) & oneq

57. Whatis the IUPAC name of Acetic Acid ? 57. vfaRs s w g f mend ?
- (A) Methanal ' (A) BT
(B) Methanoic acid ~ (B) wETR TR
(C) Ethanoic acid (C) T uftrs
(D) None of these | (D) ¥ & 1§ T
W w1 & fore s
Space for Rough Work
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58. Frerfifad sl § @ ¥R weE

58. Which of the following process involves
smelting ? | FAR?
(A) ZnCO;—25Zn0 +CO, (A) ZnCO;—*—Zn0+CO,
(B) 2PbS+30,—4 +2PbO +2S0, () 2PbS+30, —"—2PbO +
(C) AlLOz.2H,0—2— Al,O, +2H,0 (C) Al03.2H,0—— Al,0;5 +
(D) Fe,04 +3C—2 >2Fe+3CO (D) Fe,03+3C—"—2Fe+3(
59. Strength in percentage and in grams 59. 10 TG TTESISH WITHATEE hH
per litre of 10 volume hydrogen ws gy fre & wifey A 2
peroxide are '
. (A) 5%, 35.30 gram L' (A) 5%, 35.30 gram L
(B) 10%, 68.0 gram L~ (B) 10%, 68.0 gram L
(C) 3%, 30.35 gram L (C) 3%, 30.35 gram L'
(D) 2%, 34.0 gram L (D) 2%, 34.0 gram L™
60. Pure nitrogen can be obtained by the 60. A arfufsranati @WWW
reaction given below : STHbRATE
(A) NH,NO, —2-5N, +2H,0 (A) NHNO, —=—N,+2H,0
(B) (NH,),Cr,0;—2 5N, +Cr,04 +4H,0 (B) (NH,),Cr,0; —2 5N, +Cr,04 +4i
(C) NH,CONH, + 2HNO, ——2N, +CO, +3H,0 (C) NH,CONH, +2HNO, ——>2N, +CO, +
(D) 2NH3 +SC4O%—)N2 +3C4 +3H2O (D) 2NH3 +3C4O‘—)N2 +3C4 +¢
@ & % fore =
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61. Which of the following alkene is 61. fFRfsadd R afimaans
most reactive towards the addition of ¥ watfos framsfa 2 7
bromine ? ‘ e
CH, CH,
cH;” cHy”
w( T o T
(B) CH,~CH,— CH=CH, (B) CH,— CH,— CH =CH,
(C) CH, - cl: = cl; ~CH, —CH, (C) CHy— (I: = cI: ~CH, —CH,
CH; CH, CH; CH;
H,C. H.C : CH
H :C CH, H,C CH,
62. Consider the reaction : 62. T affsar gt REm R
. NaOH _ NaOH. _
CH,COOH > [X] = >[Y] CH,COOH NaOH | X] NaOH’[Y]
B hv Br.lhv
p4

X,YandZare: X YwEzZE
(A) CHSCOONB, CH3 . CH3, ( A) CHSCOONa, CH3 ._‘CHS,

SR CHCHBr
(B) CH3COONa, CH4, CH3CH20H3 (B) CH3COONa, CH4, CHSCHZCHS

W wrd & fore s
Space for Rough Work
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63.

64.

65.

(A) Troposphere

-22-
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Lithosphere refers to the | 63. foreredhiET oA ®

(A) Layer of rock material on the

earth’s surface and ocean floor |

(B) Layer of earth in which all form of |
life exists

(C) Upper more laver of atmosphere
merging into space

(D) All sources of water such as

oceans, seas, rivers, lakes etc.

The region which is greatly affected by 64.

air pollution is

(B) Stratosphere
(C) Mesosphere
(D) Thermosphere

(A) 92t 53 ud dHgae | Sufedd =
T

(B) gzt &Y wm fyad @t e
sifeaes @

(C) IRAvESH 1 Ae8 I5d W N 374
| Je |

(D) S & aft wa S "gER, |
7€, ¥ geaie

&7 S 1Y g | waifees e da

(A) ZIIEhRR
(B) EATHRR
(C) AEEHRR
(D) emiEhIER

Regarding green house factor which 65. BRa e Hact & dedf A wEi R

sequence is correct ?

(A) CO,>CH,>N,0>0,>CF_Cl,
(B) O,>CO,>CH, >CF,Cl,>N0
(C) N,O>CO,>0,>CH,>CF.Cl,
(D) CF,ClL,>0,>N,0>CH,>CO,

(A) CO,>CH,>N,0>0,>CF,C
(B) O, >CO, > CH, > CF,Cl, > N,

- (C) N,O>CO,>0,>CH,>CF,C

(D) CF,Cl,>0O,>N,0>CH, > CC

qv:s Hrd %t-:ﬁaqwn
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66. Which of the correct arrangement of 66. gﬁqanﬁé;awﬁé;dia SATRN SISt hT Tl
few substances in the increasing order TN IATH A AT 8 7
of forces of attraction between their
particles ?

(A) Water, Oxygen, Salt (A) V&, ITTerete, FHeh

(B) Juice, CuO, Helium (B) 9@ (W), CuO, &feram

(C) Sugar, Hydrogen, Wind (C) vy, ETggIH, ga1 (fe)

(D) Nitrogen, Oil, Dry ice (D) ATEESE, 9, gE1 9% (I3 3775)

67. Which of the following are colloidal | 67. Frefifiad a8 & Seres Rew 2 7
solutions ?

(A) Haemoglobin (A) BarefeA

(B) Starch solution (B) wrd faerm
(C) Both (A) and (B) (C) (A) T (B) gl
(D) None of these (D) 319 | =I5 &

68. A substance A is a dark violet solid 68. Th wel Mg AT 1 %1 3w ¥ ek
‘having diatomic molecules, whose 3 womEt 1) @ qun R cewew A
solution in alcohol is used as common e TR o % § a1 § | 98
antiseptic. What is A ?

T o e
(©) Ci, (D) CuO 2 _

69. Atomicity of hydrogen, helium, sulphur 69. TRINM, ERTH, TeH qUT FREE
and phosphorous are AT (T B
(A) 2,1,2, 1 (A) 2,1,2,1
(B) 2,1,8,5 (B) 2,1,8,5
(C) 2,2,2,5 (C) 2,2,2,5
(D) 2,1,8,4 (D) 2,1, 8, 4

W & % foro s
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70. Arrange the following in the increasing 70. fr=fefaa o strefem fawa & wge
order of their ionization potential. T syafeE #i
Li,O,F,N,Be, B, C Li, O,F,N, Be, B, C
(A) Li<cB<Be<N<C<O«<F (A) Li<cB<Be<N<C<O«<F
(B F<O<N<C<B<Bec<lLi (B) F<O<N<C<B<Bec<li
(C) LicBe<B<C<N<O«<F (C) Li<Be<B<C<N<O«<F
(D) F<O<N<B<Be<C«<lLi - (D) F<O<N<B<Be<Cc<lLli

71.  Which compound has highest dipole 71. T e o tftrepan foremam 8 7
moment ? '

(A) CO, (A) CO,
(B) HF (B) HF
(C) HI (C) HI
(D) H,0 (D) H,0

72. Which of the following is not a 72. Tefafad 3 & 7 mafen dfies 1 <
characteristic of ionic compounds ? g7
(A) Low boiling point (A) =7 FaeHH
(B) Conducts electricity (B) feorgga =1 e
(C) High melting point (C) s foptem ﬁg
(D) Strong bond (D) Tg w4 (&g wig)

73. What type of bonds exist between 73. uifean ae®e qon wifeam wREe #
the atoms of a molecule of sodium Y] & WA & Hed fohe atg H aY (@
sulphate and sodium chloride ? qare ?

(A) Covalent, Covalent (A) TEEES, GEEANTH
(B) Covalent, lonic (B) TEgaNSTH, AARH
(C) lonic, lonic (C) amﬁasamrﬁas
(D) lonic, Covalent (D) Fmrfie, wgwde
T @wd % forg wom
Space for Rough Work
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74. Which statement about detergent is 74. #T&H (1%3@;;) FINTFTIEMIR 7
false ?
(A) Prepared by su’l'phonation (A) TEHATA. B TR BT 8
(B) Better cleaning action than (B) |IEA | 3Tk wres w1 i 7
soaps e d
(C) Sodium salt of fatty acids (C) =& 3 %1 Hifsaw AIee 8
(D) Prepared from alkyl benzene and (D) e =i e s & dam R
oleum - T @
75. - Which of the following is a completely 75. Feafiiea o & o gia: waftes age ¢
fluorinated polymer ?
(A) Neoprene (A) P
(B) Thiokol (B) Tt
(C) PVC (C) d.dt.4.
(D) Teflon | (D) THAH
76. The method of zone refining of metals 76. =g o i ot S R farfer fére
is based on the principle of WG 8, 8L
(A) Greater mobility of the pure metal (A) o erg =t S1f < o | o
that of impurity qaedl
© (B) Greater solubility of the impurity (B) 3r\ i e § Tfera a1 H 31
“in the molten state than in solid - | i i e
(C) Higher melting point of the impurity (C) foyrg urg A g 4 rgfe H
than that of the pure metal HREIED
(D) All above are correct (D) Swtrw a+ft wd 2
& & o forg s
Space for Rough Work
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77. Match List— | with List— Iland select the 77. -9 T=H-na e = e &
correct answer using following codes : I gErEal @ 98t SR 99 £IRR 2
' List -1 List -1l Tt - | i |
a) Suboxides 1) Pb.O STETEEE :
b; Neutrél Oxide 2; Bez) : £ " Pb«304
) _ b) 3T srraTEe 2) BeO
¢) Mixed oxu-je | 3) C,0, c) fif sTaEe 3) Co,
d) Amphoteric Oxide 4) KO,  a
e) Paramagnetic Oxide 5) CO 9 PP
o e) ITI=H HFEE  5) CO
a b ¢ d e
A 4 1 2 5 3 A::’Z:;
(9081 Sefop A 3.2 4 53335124
© 5 8 2 4.1 © 5 3 2 4 1
@ 3 2 1 4 5 D) 3 2 1 4 5
78.  Consider the following statements : 78. T sl ut fomm AR
) Innumerable compound formation l) T F HRO Fie ey et
by carbon is due to catenation. w1 fAmior st 21
I} Carbon reacts with alkalies to form 1) e &R ¥ 3R 9 SR s 2
carbonates. : _
Il) Melting point and boiling point of I11) =Te =1 =TTk T i Rl
carbon is less than that of silicon. q H9 Bl B
IV) Fullerene is made by interlocking IV) Poeri HeH qu:mﬂ % Yo qur
hexagonal and pentagonal rings ﬁaﬂuﬁqm%m@fm%l
of carbon atoms.
V) Lamp black contains 91-92% of V) o sl H 91-92% g e 2 3
pure carbon.
Wrong statements are : TEd A R :
(A) 1), Il) and 111y (A) 1), ) @& 1)
(B) 11y, llly and 1V) (B) ), ) @ 1v)
(C) ), Ill) and V) (C) 1), M) & V)
(D) 1), Il) and V) (D) 1), 1) W& V)
I W o forg v
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79. Consider following statements : 79. ot sweEi w fomm Fi9 .
) Gaseous fuels leave no ash and ) T $um gga o S0 =T I H 7
their is lesser loss of heat during HET B UF w1 @ T4 sed 2
their combustion.
I) They have high calorific value. Iy 37 Feifes T 359 B 8|
Il) Special devices are not required iy 3% W’? ﬁ‘f@‘ wrs folfine gfFa
for their combustion. e =d w2
IV) Gaseous fuels produces lesser IV) frirg $owr Fe wgwr 3w & @
poliution.
Correct statements are : e TR FYT R
(A) 1), Il) and 111} (A) 1), 1) & 1)
(B) 1, l) and 1V) (B) 1), )T V)
(C) 1), lll) and IV) (C) 1), 1T V)
(D) 1), 1) and 1V) (D) I, ) == V)
80. The binding energy of the hydrogen 80. EEENSH I i F7uT FHl &
nucleus is '
- (A) Zero (A) =
(B) 13.6 eV (B) 13.6 eV
(C) 200 MeV (C) 200 MeV
(D) Infinite (D) 3Fa
81. Coolant used in nuclear reactor is/are 81. e Rt o sgeri EieraTen S
(A) Liquid alloy of sodium and (A) wifeam wE gieRmm %1 59 g
potassium
(B) Heavy water (B) Wil v/ &
(C) Polyphenyls (C) drehfrTser
(D) All of the above | (D) sute =+
% wE o forg T
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82. The most biodiversity rich zone in | 82, sasd # walfs Safafyuar &9 @
India is :
(A) Gangetic Planes (A) TR FBR
(B) Trans Himalayas (B) zra-feme
(C) Western Ghats (C) ufeend) are
(D) Central india (D) =g WRaay
83. Match List — 1 with List — Il and select 83. w#fl— | H g - 114 gl s fr g
the correct answer using following ' &) gErrdaT O g s gafa HiRw .
codes : , ;
List -1 List -1l et - | it~ i
a) Biodegradable 1) DDT a) Saeeh Tgu 1) DDT
Pollutants '
b) Non-biodegradable 2) SO, b) FI-sEdf ygvw  2) SO,
Pollutants
¢) Primary pollutants  3) PAN c) WAt S5k 3) PAN
d) Secondary poliutants 4) Sewage d) feefioes ygwen 4) rafire
e) Toxic heavy 5). Industrial e) fatet urd) wrg 5) sirenfie
metals Waste srfire
a b ¢ d e b ¢ d e
A) 4 1 2 3 5 (A) 4 1 Bwgiag
B 1 4 3 2 5 " B 1. 4 '3 (25
€© 5 2 3 1 4 C) 5 2 3 1 4
D) 1 2 3 4 5 N (D), 1 "2 3415
i
" & & fere e
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84. Onekgofpurewaterupondecomposition 84. wH .. € 5@ # forpa FLRCR]
by passing electricity produced 111 g 111 T H. 991 889 UH TR
of H, and 889 g of oxygen. Which @m%dwﬁz%atrawﬁraaﬁwﬁm
chemical Iaw’ |s. illustrated py this g1 B 2 qen ww Py Reed g
statement and this law was given by i
whom ? il ~
(A) Law of multiple proportions, (A) st Tt fem, e
Lavoisier ’

(B) Law of constant proportion, Proust (B) & Irguma =1 fam, yeee

(C) Law of conservation of mass, (C) == & wwaror =1 frem, AT
Lavoisier ‘

(D) Law of chemical combination, (D) TEfe TAeH 1 e, giee
Dalton

85. What is the empirical formula of 85. grifteret Us Afi ¥ 40.0%C (F
a compound containing 40.0%C '6.71% BISSISH a7 53.28% ATe1s
(carbon), 6.71% Hydrogen and 53.28% 0 3o Tt gF R ?
oxygen ? ,
(A) CH,O (B) C,H,O, (A) CH20 (B) C,H,O,
(C) C,H,O (D) C,H,0, (C) CH,O (D) C,H,0,

86. Radibactive isotope used in treatment 86. HT ek gl T et wmeenft
of cancer is I R ST R 7
(A)U-235  (B) I-131 (A) U-235  (B) I-131
(C) Co-60 (D) As—-74 (C) Co-60 (D) As—74

87. Number of valence glectrpns in sodium 87. TR TR, SEERE AW a1 71
ion, oxide ion and nitride ions are e 3 g 3?}@”%
Qe (A) 1,2,3
(B) 1,6,8 (B) 1,6, 8
(C) 8,8,8 (C) 8,8,8
(D) 0,0,0 (D) 0,0,0

% & & forg wm
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88. Heating of ferrous sulphate is which 88. mmqﬁnﬁﬁﬁmmﬁ
type of reaction and one of the product Afiferan Snft aon B @ vard Sam B
formed is what ?
(A) Decomposition reaction, Fe,O, (A) ferism arfifean, Fe,O,
(B) Combination reaction, Fe,O, (B) wﬁ:ﬂq Afyferam, Fe,O,
(C) Displacement reaction, SO, (C) Toreargw arfirfsman, SO,
(D) Displacement reaction, SO, (D) fereamam arfirfsman, SO,
89. Which of the following reaction will not 89. fr=fafad & & s ot aififsrr =i g ?
take place ?
(A) Zn + FeSO, — ZnS0, + Fe (A) Zn + FeSO, — ZnSO, + Fe
(B) 2Kl + Cl, — 2KCl + I, (B) 2Kl +Cl, — 2KCl + |,
(C) Zn + MgSO, — ZnSO, + Mg (C) Zn + MgSO, — ZnSO, + Mg
(D) Mg + CuSO, — MgSO, + Cu (D) Mg + CuSO, — MgSO, + Cu
90. Conversion of potassium dichromate | 90. R SN * Cr (SO, uftada i
into Cr,(S0,), is a process of fafr 2
(A) Decomposition (NRERIEES
(B) Substitution (B) wfereemu=
(C) Oxidation (C) st
(D) Reduction (D) AT
91.  Which one of the following is not an 91. Frferia & @ s camafiiE (qraseasiv)
example of exothermic reaction ? s 1 areen e & 7
(A) Dilution of sulphuric acid ) W)ﬂ PHS (e
(B) Respiration (B) vaua (Rafiiem)
(C) Photosynthesis (C) B3 TyaNul
(D) Reaction of dilute hydrochloric (D) 93 TSI ova &1 [ &
acid with granulated zinc @=re@) U & ary Afifen
" & & et
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92. Consider the following statements : 92. A syl W o Hifsa
- Roasting is carried out to Smor sefferd o st @
1. Convert sulphide into oxide 1. GBS B FFAEE § IREIT HO
2. Melt the ore 2 IEF F AR 55 oo
3. Remove moisture, water of 3. Tft, SR S 6wk ge
hydration and expel organic | F i s o
matter
4. Remove sulphur and arsenic in 4. geR aur ArEfaw w1 arsesh
the form of volatile oxides IFHTEE o €9 7 FHehifed @ 8
Out of these statements : Iq0FE FAAH G
(A) 1, 3:and 4 are correct (A) 1,3wE 458 8
(B) 1, 2 and 3 are correct . (B) 1,2wa 34&l &
(C) 2,3 and 4 are correct (C) 2,31wa 458 2
(D) 1, 2 and 4 are correct (D) 1,21 4 @&t &
. 93. Consider the following statements : 93. = wuml W femm R
l) Argentite and Cuprite are oxides l) SIS TH R TS
Ore. ' 3T Bl
ll) Cupellation is the method of ) U Uk a1 & weA i
refining a metal which has greater fafr 2, Rraer smadis &
affinity for oxygen. yfcaates awean 21
Il) Calamine and Azurite are [1l) HATHTE T TRIRE I
Carbonate Ore. 3 Bl ‘
IV) German Silver contains Cu, Zn IV) w9 et § Cu, Zn qm Ag
~and Ag. &Il 2l
Incorrect statements are : T A S
(A) 1) and 1) (A) hE )
(B) 1ll) and IV) (B). Il T 1V)
(C) 1) and IV) (C) yw V)
(D) Il) and IV) (D) )T V)
T HE & o0 T
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94. Non-illuminating and heat producing 94. w19 # INHT I4H FEITAT W TF
constituent gases in coal gas are () 7 Faren srgeh A §
(A) Nitrogen, Carbon dioxide and (A) TELSH, HTET SIS T
Oxygen i
(B) Ethylene, Acetylene and (B) sefiefi, wfdiels wa A9
Methane - A
(C) Hydrogen, Methane and Carbon (C) TISEISH, U T HIeH HAIATFITE:
Monoxide '
(D) Carbon Monoxide, Carbon (D) T FAAFIIEE, FH1eH SHATHTR
dioxide and Nitrogen T RIS
95. A petroleum fraction having boiling 95. C,8 C, el vy Fft 379 o Y
range 70-120° C and containing | ° ST SRR FYTR W 70-120° C |
C6 to C, carbon atoms per molecule FEATE
is called |
(A) Natural gas (A) e g
(B) Gas oil ~(B) T
(C) Gasoline (OREISIE
(D) Kerosene (D) T
96. Consider the following reaction 96. = rfifsrn W femm il -
o, 0O,
CH,CH = CHCH, —=> [A] CH,CH = CHCH, — [A]
HZOlZn ‘HzolZn |
[B] [B]
The product ‘B’ is I ‘B R
(A) CH,CH,CHO (A) CH,CH,CHO
(B) CH,CHO (B) CH,CHO
(C) CH,CH,COCH, (C) CH,CH,COCH,
(D) CH,COCH, (D) CH,COCH,
@ & % fore
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07. qrmvgﬁwgqﬁxﬁgumﬁmfsﬁﬁm

97. The huge amount of energy, which is
released during atomic fission is due to EtuR
(A) Loss of mass (A) e af
(B) Loss of B~ particles (B) p-=uit # &fa
(C) Loss of a Particles (C) o o ¥ &fa
(D) Loss of neutrons (D) =ggri i &fer
98. Biosphere is made of - 98. FTETHIT 1 BT &
(A) Living beings and their remains (A) Shfaa e qen 39 sEwy
(B) Living being, lithosphere, (B) Sfifya <, forerediem, BISGIOER
hydrosphere, atmosphere EIRELER ]
(C) Living beings, lithosphere (C) <hfdm e, freiedrr
(D) Living organism, lithosphere, (D) I Fmifre, faehehier
hydrosphere ‘5’5@1’9‘3@1‘:
99. Whatis most effective way to conserve 99. et 83 N v Rifvar = gt
plant diversity of an area ? fora gaiferer yare sug @
(A) Tissue culture (A) fogp weeR
(B) Botanical garden (B) srerfrear mEa
(C) Biosphere reserves (C) wrehrR fod
(D) Seed banks (D) e ¥
100. Which one of the following reaction 100. F B a =N @ T e e
shows nitrogen fixation ? Ry 7 '
(A) 2N, + Glucose — 2 Amino acids (A) 2N, + Glucose —» 2 Amino acid:
(B) 2NH; +20, +8e™ — N, +4H,0 (B) 2NH; +20, +8e™ — N, +4H,C
(C) 2NH, - N, + 3H, (C) 2NH, > N, + 3H,
(D) N, +3H, - 2NH, (D) N, + 3H, — 2NH,
o ¥ Ruem
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PART - Ii |
MATHEMATICS/ nifom
101. If one root of the polynomial 101, @ETE (x) = 5% + 13x + k 1 T T ¢
f(x) = 5x2 + 13x + k is reciprocal of - & A K FAE B '
the other, then the value of k is T ’
(A) 0 (B) 5 (A)-0 (B) 5
1 A
© 3 (D) 6 © & (D) 6
102. If the polynomial f(x) = ax®+ bx — ¢ is 102. Ife 9g9T f(x) = ax®+ bx — ¢ fnfom &
divisible by the polynomial 2 9598 g(x) = X2 + bx + c % g, -
g(x) = X2+ bx + ¢, then ab = JRe
1
£ 1
A s v (A) 1 ®) -
() -1 (D) - (C) — 1 (D) -~
¥ G
103. If a, b and c are three distinct positive 103. 3Rk a,b, o Rt ST A G
real numbers, then the number of real d@ax?+2b|x|-c=0 é;arm‘ﬁmq
rootsof ax2 + 2b | x| —c=01s i G 2
(A) 4 (A) 4
(B) 2 (B) 2
(C) 0 (C) 0
(D) None of the above (D) I 3§ @ % T
104.  If the two roots of the equation 104. 3fe gHileor —— + —5 =1Fdq Y
X-a X-
42 _qareequalin ot i s o Roes R §,
X X —
magnitude and opposite in sign, then a+b®AME
the value of a + b is
(A) O (B) 1 (A) O (B) 1
(C) -1 (D) 2 (C) -1 (D) 2
W W & form e
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105. If o+ B =90°, then the maximum value 105.- afe o + B = 90° ), & sina sin|
of sino. sinp is Afereram T B
1 1
A) — A) —
(A) > (A) >
B) -+ B) -
(B) > | (B) -3
(C) -1 ‘ (C) -1
(D) 1 (D) 1
106. The value of cos10° — sin 10° is 106. cos10° — sin 10° %1 | &
(A) Positive (B) Negative (A) gTcTH CIEURED
€0 (D) 1 (C) 0 (D) 1
107. Which number is rational in the 107. = % @ %=-dt gen 9wy eeft ?
following ? |
(A) sin15° (A) sin15°
(B) cosi5° (B) cos15°
(C) sin15° cos15°. (C) sin15° cos15°
(D) sin15° cos75° (D) sin15° cos75°
108. All the angles of a triangle is in | 108. @W%Wm o % 8 & ¥
A.P. series. The ratio of least angle in BT IV 1 TS H HEAT H F T HW
grade and largest angle in Radian is a3 Fem 1 31gaTa 40 : w R, @ B
40 : n. Then the angle of a triangle in e fah g g
degree is
(A) 30°, 90°, 60° (A) 30°, 90°, 60°
(B) 20°, 60°, 100° (B) 20°, 60°, 100°
(C) 80°, 40°, 60° (C) 80°, 40°, 60°
(D) None of these (D) = 8§ =i 78
@ & % fore v
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109. The centroid and centre of the circum- 109. forelt uftemr % dheseh T g WY T 8
circle coincide in i
(A) Right angle tiiangle (A) wHhior By
(B) Isosceles triangle (B) wufgerg st
(C) Equilateral triangle (C) wwaTg By
(D) Scalene triangle (D) ferwag s
110. In AABC, D is the mid-point of AB, | 110. AABC #, D, AB %1 #ea farg %, P, BC
P is any point of BC, CQ || PD meets T his ﬁ'.?é 2, CQ || PD, AB=I Q 1%1:3
AB in Q, then area of ABPQ is equal to X fireran €, @ ABPQ &1 &% s &
, .
(A) Zar (AABC) A) %ar (AABC)
(B) ar (AABC) (B) ar (AABC)
(©) 1ar (AACD) (C) 1ar (AACD)
2 ' 2
(D) ar (ABCQ) (D) ar (ABCQ)
111, The perimefer of a friangle is 25 cm | 111. fqs & ity (Wieer) 25 cm B @
and the inradius of the triangle is FRieTd 2 cm 8, By =1 &set @
2 cm. The area of the triangle is -
(A) 50 cm? (B) 25 cm? (A) 50 cm? (B) 25 cm?
(C) 12.5 cm? (D) 12 cm? (C) 12.5 cm? (D) 12 cm?
112.  Area of the sector of radius 42 cm with 112, et &wd et Brem 42 cm @& 375
central angle 90° TR 90° B
(A) 231 cm? (B) 1234 cm? (A) 231 a2 (B) 1234 wfi2
(C) 213 cm? (D) 1386 cm? (C) 21332 (D) 1386 aH?
% wE & oo e
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113. Let | be the lower-limit of a class- |z 113. gh R § wi-siqua # |, frr-din
interval in a frequency distribution and 3 YT 11 &H m v o g aw R me
‘m be the mid-point of the class. Then ‘ e )
the upper class limit of the class is [
~(A)m+|—+2£n— @®) 1+ Mt | (A)m+'—+5——‘ (B) 1+ M+
(C) 2m — | (D) m-2 (C) 2m -1 (D) m-2
114, Class limit of the class 11 — 15in | 114 =11 - 15 & -t (srtfera v )
inclusive form is - .
(A) 11.5-155 (B) 10.5-15.5 (A) 11.5-155 (B) 10.5-155
(C) 10.5-14.5 (D) 11.5—14.5 (C) 105-145 (D) 11.5-14.5
115. When cumulative frequencies are | 115. S Gedfi 31Tell &) 369 9% 9 S1=0e
plotted against end points of their a;aiﬁmf%@aﬁmﬁ S 34 firem
respective class intervals and joined o R} U Feerar &
together, resultant graph is called
(A) Cumulative frequency pentagon (A) E==ft Jrret =R
(B) Cumulative frequency hexagon (B) w==ft gt wesniw
(C) Cumulative frequency histogram (C) w=rft arrgeht feeehmm
(D) Cun')ulative frequency polygon (D) ===t 3Tt TES
116. In a histogram the area of each | 116. i & ye 1rra 1 Qe STuTTeres 2
rectangle is proportional to
(A) Theclassmarkofthe corresponding (A) = IaUS & qiwra‘azf 3h
class interval '
(B) Cumulative frequency of the | (B) =t Fierer % wa W) vt
corresponding class interval _
(C) Frequency of the corresponding (C) = AU % W AR
class interval A
(D) The class size of the corresponding (D) =t U % WU TG T RN
class interval
% w1 & for e
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(PvQA(P-R)A(Q—R) is equivalent to 117.  (PvQ)A(P-R)A(Q—R) %+ |Hged ¥
(A) R (A) R
(B) P (B) P
€ Q €) Q
(D) True = (D) & =T
118. If n(A) = 25 and n(B) = 32 and 118. afd n(A) = 25 3R n(B) = 32 K
n(AUB) = 48, then n(ANB) is n(AUB) = 48, @ n(A~B) 2
(A) 25 (A) 25
B) 9 (B) 9
(C) 32 (C) 32
(D) 48 (D) 48
119. The number 116 is equivalent to 119. Pi@!ﬂGﬁa’HﬁaﬂﬂTﬁ%W%?
binary
(A} 110010 - (A) 110010
(B) 1110010 (B) 1110010
(C) 100100 (C) 100100
(D) 1110100 (D) 1110100
120. Convert the following binary number 120. feonuard 110000_9_3%3[5@5@@[&
to decimal. ECit il
110000,
(A) 48,, (A) 48,
(B) 56, (B) 56,,
(C) 49, (C) 49,,
(D) 23,, (D) 23,
W wE & forg wmm
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121. The sum of g ISP TR
s ol T . p C V241 VBEV2 Va4
V2 +1 J3+4/2 \/Z+\/§ ) 1
P Tl 100 ¢ Jog TR
" \/1'66 4 \/9—9 IS
(A) 9 (A) 9
(B) 10 (B) 10
(C) 11 (C) 1
(D) None of these (D) ¥ § %I¥ gl
122. (7.5x7.5+37.5+25x2.5)is 122. (7.5 x 7.5+ 37.5 + 2.5 x 2.5) %1
equal to TR BRM
(A) 100 (A) 100
(B) 80 (B) 80
(C) 60 (C) 60
(D) 30 (D) 30
123. lix*=y,y*=z z°=x,thenthevalue | 123. IR x2 =y, yo = 7, 2° = x, @ abc "
of abc is iCh
(A) xyz (B) 2 (A) xyz (B) 2
SR, (B) 0 (©) 1 ©) 0
124. If 2x — 2¢7 = 4, then the value of | 124, AR 2x_21=4 A FIAL
X* is
(A) 1 (A) 1
(B) 27 (B) .27
(C) 256 (C) 256
(D) 3248 (D) 3248
% & & foo wem
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125. Letf(x)=ax*+bx+c,a=0. 125. 3R f(x) = ax? + bx + ¢, a # 0, WA
Suppose, f(-1) < 1, f(1) > -1 and f(-1) <1,f(1) > — 13N {3) <-4
f(3) < — 4 then
(A) b+1=0 (A) b+1=0
(B) b+1>0 (B) b+1>0
(C) b+1<0 (€)b+1<0 .
(D) b is positive real (D) b uTeHe TEAf ST R
126. Two students attempted to solve a | 126. 3 femmfaiai = x o w faema wisno =1 &
quadratic equation in x, one student foram | wer formeff 3 T=R Ug *! eI 34
‘made a mistake in writing down the 3 & 3 3R 2 T Rt | qE 3 e
constant term and get two roots o X271 T[T AT 6 3 1 T IR | T
3 and 2. Second student write constant Sl %
term and coefficient of x? are 6 and 1
respectively. The correct roots are
(A) 3,-2 (A) 3,-2
(B) - 3,2 B=3,2
(C) —-6,—1 Er=orl
(D) 6,1 (9).6, -1
127.. 1f m™ term of the series 63 + 65+ 67 + | 127 I AR 63+ 65 +67 +69+...7
69+...and3+10+17+24 +...are 3+10+17+24+... 5 m’ T SR <
equal, then the value of m is Al m 1 A BT
(A) 11 (B) 12 (A) 11 (B) 12
(C) 13 (D) 15 (C) 13 (D) 15
128. The value of k, for which the system 128. Rae el M x + 2y — 3 =0 9%
of equations x + 2y — 3 =0 and 5X + ky + 7 = 0 1 &1 9T & 8ia B,
5x + ky + 7 = 0 has no solution is a k T HH
(A) 10 (B) 6 (A) 10 (B) 6
(C) 3 (D) 1 (C) 3 - (D) 1
% & & fore Tam
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129.

130.

131.

An aeroplane flying at a height of 300
m above the ground passes vertically
above another plane, at an instant
when the angle of elevation of the two
planes from the same point on the
ground are 60° and 45° respectively.
Then the height of the lower plane from
the ground (in meter) is

100
(A) 100V3 (B) Nl £
(C) 50 (D) 150(V3+1)

The angle of elevation of the top of
a tower at two points, which are at
distance a and b from the foot in the
same horizontal line and on the same
sides of the tower are complementary.
The height of the tower is

(A) ab (B) vab

a b
(C) \fg (D) \/g

Has no actual size, used to represent

an object or location in space

-41-

129.

130.

131.
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TS TATS SeTS T o @ 300 1. ) Frg
I 1 & Th TW TS e F I el
ST T T[eRaT 7, I &1 Jfy W R wh
forg @ ST 7S STRTSil % IF hIvT
60° TAT 45° R TR | 7 Freret BT W
6 9y & Serd e A B

100
(B) NGl
(D) 150(J§+1)

(A) 10043
(C) 50

T AR ¥ U8 @ o el AR T
R 5 7% & T € 9 a T b g
3 forgall W afiTR % v & e AT
10 |, At HAR < S anft

(A) ab (B) Vab
‘la b
© \p (D) \fg
Fr=afte § v o foret g ) gwia o for

I, free i Sfm seR i Y

(A) Line (A) @&
(B) Point (B) farg
(C) Parallel lines (C) THF=R @l
(D) Plane (D) awad
| w3 o e
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132. Mean of the first five odd numbers is 132. M U foow g &1 ey 8
(A) 12.5 (B) 11.5 (A) 12.5 (B) 11.5
(C) 12 (D) 11 (C) 12 (D) 11
133. Tickets numbered 1 to 15 are mixed 133. T 1d 15% A & I 3a
up and then a ticket is draw at random. T e Ferrern # IRCTI S CRTC
Probability that the ticket draw has a ot 4 % o A B
number which is multiple of 4 is
dl 3 Ll 3
(A) 3 (B) ¢ (A) 3 B) 3
2 3 2 3
134.  The most widely used computer deviceis | 134. FFeet 1 sIga ik Iuanl o5 &
(A) Solid state disks (A) drcfie we feon
(B) External hard disks (B) =Tl &T8 fewh
(C) Internal hard disks (C) =it wre fswn
(D) Mouse (D) wrsq
135. The process by which objective type | 135. wen # objective type S gfEww f
answer sheet evaluate in examination Yfea g S STt | 7
(A) Optical Mark Reader (A) stfeener Ak =t
(B) Optical Corrector Reader (B) Infesher it fet
(C) Magnetic Tape Reader (C) nafes 24 =t
(D) Magnetic Ink Corrector Reader (D) THfew § et st
136. The proposition of pA(~pvq) is 136. pA(~pvq) FTET TR 7
(A) A tautology (A) FIaTHES
(B) A contradiction (B) fertiemmar
(C) Logically equivalent to paqg (C) pag ™ dTfdhe Tged
(D) All of above (D) 9 & Tft |
@ & & oo wm
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137. Iflog.a . log.x =2, then x is equal to 137. afe log.a . log,x = 2, A x A T[T
]
(A) 125 (B) & (A) 125 (B) a2
(C) 25 (D) 5a2 (C) 25 (D) 5a2
138. 1095+10g(X" +1 _, 1aethe number 138, 1095+109(X"+1) _, yecifdmnd
log(x-2) log(x —2)
of solution
(A) 1 (A) 1
(B) 2 (B) 2
(C) 3 (C) 3
(D) None of these (D) 395 & HIg T8
139. A person distributes his pens among 139. T Afa 39 AR I A, B, C 3D &
four friends A, B, C and D in the ratio il : 1 : 1: 1 S S e
1 . 1 . .1_; 1 What is the minimum 3 4 5 6 .
3 456 fora | 3@ =afa & are =Haw U9 ) g
number of pens that the person should ot
have ?
(A) 75 (B) 45 (A) 75 (B) 45
(C) 57 (D) 65 (C) 57 (D) 65
140. The sum of 5% of a number and 4% 140. Uk G&AT 1 5% T TH T HT 4% F
2 . o B
of other number is 3 of the sum of A el @ 52" =0l GggaaE] aﬁﬁ Rl
6% of the first number and 8% of 8% AT 3 &1 el T SE Hen %
second. The ratio of the first number U BT
to the second is :
(A) 2:3 (B) 3:2 (A) 2:3 (B) 3:2
(C) 3:4 (D) 4:3 (C) 3:4 (D) 4:3
@ wE & fom v
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141. If2x-3y=7and(@+b)x-(a+b-3)y | 141, aR2x-3y=73M(@+b)x—(a+b-
= 4a + b represent coincident lines, = 4a + b HuT t@redl =t vefidfa
then a and b satisfy the equation W a qAT b THIEHT Y IR BT
(A) a+5b=0 (A) a+5b=0
(B) 5a+b=0 (B) 5a+b=0
(C) a-5b=0 (C) a-5b=0
(D) 5a—b=0 (D) 5a-b=0

142 If am # bl, then the system of linear | 142, IR am = bl, 79 Waw il
equations e
ax+by=c ax+by=c
X+ my=n IX+my=n
(A) has a unique solution (A) *1 & Jfeda &

(B) has no solution (B) 1 ®I3 7 &I &
(C) has infinitely many solution (C) 1 3= & B
(D) may or may not have a solution (D) & & a1 7 ot & W
143.  The ratio of maximum and minimum | 143. 2 - cosx + cos® x & ffrman a
value of 2 — cosx + cos2 x is AT U T ST ST
1 1
(A) 2 (A) 2
9 9
(B) 4 (B) 4
13 bt
C) 2 C) 3
7 7
(D) 7 D) 3
@ & & forowm
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144. Path described by any moving point is 144. Tt aﬁaﬁ:g: T R ™ arf
classified as A g '
(A) Ordinate ray (A) TTa T
(B) Rays (B) feprut
(C) Line segment (C) TarEE
(D) Line (D) @
145. The sum of the three altitudes of a 145, %{:ﬁﬁgﬁﬁeﬁ:ﬁﬁﬁzﬁ (altitudes) =
triangle is IR
(A) Less than the sum of three sides (A) Brys & @1 qestt & @ A s
of the triangle .
(B) Greater than the sum of three (B) ﬁg—;,r &+ it g—smﬁ % I | =21
sides of the triangle
(C) Equal to the sum of three sides of (C) Prys & ol yonait & A F wUR
the triangle
(D) None of the above (D) ¥ & I bl
146. If a transversal intersects two parallel | 146. 2 FHFTRI Y@l ) Sgwey TR=de
lines, then each pair _of ‘consecutive 8, 0 I I AR AR oy
interior angles are
(A) Equal (A) TR
(B) Supplementary (B) il
(C) Parallel (C) TR
(D) Complementary (D) G wIvT
W & o forg T
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147. If the radius of the base of a right 147, qﬁgqqﬁmg;ﬁ-qsi@a; YR F ==
circular cone is 2r and its height is 3 oM 3gehl Surd s & s }, i g
equal to the radius of the base then ATET
its volume is
3 .3 s 2mr3
A L B) 2 A) =— S
(A = ® 22 (A) = € =
: 3 3 8nr3 4nr3
) & o © = 0) 3
.3 3 :
148.  Vertical cross-section of aright circular | 148. WHeHIT FHfiT S h1 IFeate STy
cylinder is always a TUSI BaT &
(A) Square (B) Rectangle (A) =it (B) 3@
(C) Circle (D) Rhombus (C) 31 (D) ferswenior
149. Into a circular drum of radius 2 mand | 149, w Ity g formeh B 2 m ol &
height 3.5 m, how many full bags of 35mée |ﬁ§\a; 2 cubic m % &R fFaA
wheat can be emptied if the space IR Tt R ST aRT § ?
required for wheat in each bag is
2cubicm? .
(A) 22 bags (B) 11 bags (A)A22 bags (B) 11 bags
(C) 5 bags (D) 7 bags (C) 5 bags (D) 7 bags
150. Class size of the distribution 150. famwr 21, 27, 33, 39, 45 ¥ 7 -3 hR §
21,27,33,39,45is
(A) 3 (B) 5 (A) 3 (B) 5
(C) 6 (D) 4 () 6 (D) 4
@ & % foro v
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SET- A

IR Sifehd A T AT 3ue - orferemaw oi e : 150

Time for marking answers : 3 Hours Maximum Marks : 150

e :

1. 38 9% Ifh 150 W99 | T WH 1 375 %1 2 | weft W e S orfrand )
- WA 3 I, A 1§ OMR 3w 9tz (aTiR-he) W 3ifia iR |
SROTTCH Hed T g fohalT ST |
Wﬁm%mmmmmﬁmmwmaﬁh% |

OMR 3TEfiE (Tier-3ite) w1 T i ome TEt 18 sramaer = ot o Rl 98 Se s a1 3ei =
1 Rrerae onfe g 9 ot worea®y 98 @Ua 8 91 |

o Il A

ote :

. This question Booklet contains 150 questions. Each question carries 1 mark. All questiol
are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

o &~ 0D

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get to
or spoiled due to folds and wrinkles. v



